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@ xy+2 © 3x?

(F4) = 3x (ay +2) = 3y (x +2)




@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2




3. e T4+ Txy+10y* O A4E BF LEHN(FH 271)

@D x+y @x—i—Zy @x—H’)y

@ x-2y ® x-5y

x2 + Txy + 10y? = (x + 5y)(x + 2y)




4. (2r-%) (xta) T AAGFAL W, 2 O ASTH0D W, a9 RS
Fofoet.

> E.

> Hehl 6
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(F4]) = 2x2 + 2axy - 3xy — 3ay?
= 2x? + (2a - 3)xy — 3ay?
2a-3=9
T a=6
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ofzt,

> E.

DAY a=-2
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8. oA % -5x-6 222 -3x-5 9 F59 =S F o]
%

[*]

Z1Q171?

®x-1 @r+1 ®x-6 @®x-5 O x+6

x> -5x—-6=(x-6)(x+1)
2x2 = 3x-5=(2x-5)(x+ 1)

et £ 4)0] 254 Q4 x4 1 0t
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0|7} 16a% —24a+9 2 o, §F He] 4

@)4a -3 ® 4a+3

Jol=?

16a® — 24a+ 9 = (4a - 3)?

whabA] gt ¥ o] Zoli=

4a — 3 o]t}




10. o2 &5 22 —y2 —2x+2y 9 A5 ALY

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x-y)-2(x-y) = (x+y-2)(x~-y)




11. 22 -9+ xy-3y & 2A5E3)s1H?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)




12. oL Z 42 —ab-bc+ac A5E?

® b+c @ a-c ® a+b @a—b ® b-c¢

ala—b) +cla—b) = (a-b)(a+c)




13. ab-b-a+ 12 H2A ASFESH Z27

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)
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D a®+1 © a®>-1 ©® a+1
® a-1 @ a*+1
o144 @24 @34 @44 O Qo
a-a’-a+1=a*Ga-1)-(a-1)

=(a®-1)(a-1)
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15. x%y—y-—2+2x2 o] A7) ofd AL29

® x-1 @ x+1
@y-2 © y+2

~&B

(FA) =xy+2x%2-y-2
=x*(y+2)-(r+2)
2

-1y +2)
=@+ )x-1r+2)
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B, @] Pl x—y o
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@ x-2y+4 ® x+2y+2

® x+4y+2

X2 =y +4(x-y) =
= (x+y+4)(x-y)

(x+y)(x—y) +4(x-y)




17. X% -y +4yz - 422 & ARt HY
(x+ay+bz)(x—y+cz) 7F HATh olw a + b + ¢ 9] 72?2

®-1 @n ® 2 @ 3 ® 4

~&B

=y dyz- 42 =57 - (0 -z +42)
= x? - (y - 22)?
=(x+y—22)(x—y+22)

et a=1,b=-2,¢c=2922 g+ b+c=10|t}.




18.

x?+5x+a=(x+b)? N a-b 2 F2?

15
©F

X2 4+ 5x +a = x% + 2bx + b?

5
2b=05, b= —
2
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=p2 ===

a 4
15
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19. 1<x<4dm, VaZ-2x+1- Va2 -8x+ 16 & 7Fks] oFH?

® 2x-2 @ 2x+1 ®)2x-5

@ 3x-1 ® 3x+1

B

V2 —2x+1- Va2 -8x+ 16
MY/ e Y c=r v
=lx—1 - |x -4
=x—-1+x-4=2x-5




20. 3<x<—29", Vi2+6x+9-2VxZ+4x+4+ Va2 & L5}

H?
D -2x-1 @Yox+7 ® -1
@ 4x+7 ® 4x-1

VO -2 /GF I+ VE

=|x+3|-2|x+ 2|+ |«
=x+3+2x+4—x
=2x+7




21. thg Ao] SAAFAY w, A4 a o @S Fateler

(x+2)(x+4)(x+5)(x+7)+a

=
=i

>
> At a=9

~&B

=) =(x+2)(x+7)(x+4)(x+5)+a
= (x2+9x—|— 14) (x2+9x+20)+a

24+9x=A4 2 3stH

(F4) = (A+14) (A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 + 92+ 17)°

172 =280 +a

a=9




22. Thg % x - 19 Q47 obd 7L

D x-1 @ x*-1 @ x*-1

@xG—l ® x¥-1

B-1=0x -1 +1)
==+ 1) +1)
=(x-1)x+D2+1)(*+1)




23. 5007x5009+1 ©] oJH 2tAF2] Al FA wff, of© AALE F5HH?

® 5005 @ 5006 ® 5007 (@)5008 ® 5009

5007 x 5009 + 1 = (5008 — 1)(5008 + 1) + 1
— 50082 — 1 4 1 = 50082
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= . —192

YA 4
0%
n

= (11-13)(11+13) + (15-17)(154+17) +
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